PCH March Brainteaser

1) Use the Chain Rule and the product Rule to give an alternative proof of the Quotient Rule.  [Hint: Write f(x)/g(x) = f(x)[g(x)]-1]  


2)  On a map, Minneapolis is 165 mm due west of Albany, Phoenix is 216 mm from Minneapolis, and Phoenix is 368 mm from Albany.  

a. Find the bearing of Minneapolis from Phoenix.

b. Find the bearing of Albany from Phoenix.


3) A rectangle has sides 4cm and 8 cm.  A parallelogram has the same area as the rectangle, and each side is equal to one of the diagonals of the rectangle.  Find the sine of the acute angle between the sides of the parallelogram.


4)  Two people are standing 100m apart on the bank of a river that flows due east.  If a rock on the opposite bank is along a bearing of N24(E from one person and along a bearing of N10(W from the other person, what is the width of the river?
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